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QUESTION 1

In what situation will you benefit from the use of multi instance queue managers?

A. You would like to replace an HA coordinator

B. You would like to your System IP address assumed at Queue Manager fail over

C. You would like active/stand by Queue Manager fail over support

D. You would like higher throughput with work load management of multiple instances of queues

Correct Answer: C

QUESTION 2

To write a message to a WebSphere MQ v7 queue, which of the following MQI API calls is NOT a required step of the
application programming code?

A. MQCONM
B. MQPUT
C. MQSET
D. MQOPEN

Correct Answer: C

QUESTION 3

What is the name of the MQMD field that a message producer uses to ensure that no consumers receive a message
after a message has been on a destination queue for a specified period of time?

A. Timeout

B. Expiry

C. TimeToLive
D. MaxAge

Correct Answer: B

QUESTION 4
What is required for WebSphere MQ v7 to support publish-subscribe messaging?

A. A queue manager
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B. A publish-subscribe broker that has the same name as the queue manager
C. A separate broker process that is associated with each queue manager
D. A SupportPac is available to provide publish-subscribe functionality

Correct Answer: A

QUESTION 5

In order to run MQV7 on a distributed platform with earlier versions of WebSphere MQ running on the same physical
server, what must you do?

A. This configuration is not allowed.

B. Install MQV7 into a different directory than previous versions.
C. Map listeners to different ports.

D. Both B and C.

Correct Answer: A

QUESTION 6

If the solution designer wishes to ensure that subscribing MQ applications receive message from a topic even if the
subscribing MQ application is disconnected from the queue manager at the time the message is published, which action
is required?

A. The publishing application must set the message as persistent.

B. The subscribing application must set the message as persistent.

C. The publishing application must set the subscription as durable.

D. The subscribing application must set the subscription as durable.

Correct Answer: D

QUESTION 7

In a distributed queuing architecture, where does the local queue manager store messages until it is ready to send them
to the remote queue manager?

A. In a relational database
B. In a remote channel queue
C. In a remote queue definition

D. In a transmission queue

P9530-039 VCE Dumps | P9530-039 Study Guide | P9530-039 Exam Questions 3/4


https://www.passapply.com/p9530-039.html
https://www.passapply.com/p9530-039.html
https://www.passapply.com/p9530-039.html

VCE & PDF https://lwww.passapply.com/p9530-039.html
2024 Latest passapply P9530-039 PDF and VCE dumps Download
PassApply.com

Correct Answer: D

QUESTION 8

Which statement is TRUE regarding WebSphere MQ and message routing?

A. WebSphere MQ will lock for a consumer name in the message description (MQMD) header.

B. WebSphere MQ does not route based on the contents of the message body.

C. You can write an XPATH expression to tell WebSphere MQ how to route the message to the appropriate consumer.
D. WebSphere MQ will examine the message properties and route it to the appropriate consumer.

Correct Answer: B

QUESTION 9

Which of the following is NOT a valid method of administration for WebSphere MQ v7?
A. WebSphere MQ Explorer

B. Integrated Solutions Console

C. Command-line

D. PCF commands

Correct Answer: B

QUESTION 10

What is the holding queue for messages that cannot be delivered to the destination queues?
A. Dead-letter queue

B. Backout queue

C. Transmission queue

D. Undeliverable messages are simply discarded from the system

Correct Answer: A
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